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LB~ HugE = 2 g gk T g LB (=) (22)
ot 307 1,014,542
1 |# 3 (PEN) 4 #* (TPE) 5 3,133
2 | & EWLID = & (GYD) 4 # (TPE) 2 10, 232
3 |k &HEDLUO #ECi= N |4 (TPE) 1 11, 581
4 |4+ (TPE) Fis (G A (PYVG) 19 765
5 |4 (TPE) < R (KIX) 5 1,706
6 |% (TPE) < R (KIX) % s (ANC) |24 B (ORD) % s (ANC) | % IR(KIX) 4 # (TPE) 4 28,213
7 |4 (TPE) < R (KIX) % 5.455 (ANC) 1 7,614
8 |+ (TPE) < R (KIX) # 5. (0AK) # £ L (SFO) 4 10, 936
9 |4 #(TPE) % 2 (TSN) #11 (C6O) 4 #* (TPE) 1 3,497
10 |+ 4 (TPE) A4 (KKI) L3 (%8 )(NRT) 1 2, 752
11 |4+ (TPE) 12 (KUL) it (AUD) | % #(LUX) 4 # (TPE) 1 26, 743
12 |4 4 (TPE) %+ % (NGO) % 3 7835 (CVG) 5 12, 339
13 |4 # (TPE) % 545 (ANC) 6 7,524
14 |+ 4 (TPE) % 3355 (ANC) LT HW < ATL) |+ 27(DFW) % .45 (ANC) |4 # (TPE) 6 29,918
15 |4+ (TPE) % #4255 (ANC) LTHFATL) % 255 (ANO) £ 1= (KIX) 4 # (TPE) 3 29, 251
16 |+ # (TPE) % %455 (ANC) % 4c8 (ORD) & % B (SEA) 4 # (TPE) 1 27, 776
17 |4 # (TPE) % 7355 (ANC) ¥ 4c & (ORD) % 5455 (ANC) % # (TPE) 7 19,533
18 |+ 4 (TPE) % 3355 (ANC) 3 4B (ORD) R 48 (1AH) % 545 (ANC) |4 # (TPE) 1 26, 843
19 |42 (TPE) % 5455 (ANC) 4525 (LAX) % 5455 (ANC) 4 # (TPE) 6 22,438
20 |4 # (TPE) % 3355 (ANC) & 4 (JFK) % 5455 (ANC) 4 1= (KIX) 4 # (TPE) 1 29, 929
21 in‘L (TPE) % 5455 (ANC) e 5 (JFK) % 5.455 (ANC) 4 # (TPE) 8 27, 142
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22 |4 # (TPE) % 3355 (ANC) e % (JFK) & 7 B (SEA) % 3355 (ANC) |4 # (TPE) 2 21, 596
23 |4 4 (TPE) % %4255 (ANC) § 2+ (MEM) 1 12,575
24 |4 # (TPE) % 3455 (ANC) i 4 #4(DFW) % 7,455 (ANC) 4 # (TPE) 3 24, 676
25 |4 # (TPE) % %355 (ANC) i 4 #4(DFW) & % [ (SEA) % 2355 (ANC) |4 # (TPE) 1 24, 781
26 |4 # (TPE) % 3455 (ANC) i 4 #4(DFW) £ L (SFO) % 3355 (ANC) |4 # (TPE) 2 25, 381
27 |4 # (TPE) % 3455 (ANC) @ (MIA) 4 1 (SFO) 4 2 (TPE) 3 17, 685
28 |4 # (TPE) % %455 (ANC) @ (M) L % (TAH) % 3355 (ANC) |4 # (TPE) 1 32, 667
29 |4 2 (TPE) 7.4 5 (CRK) 23 1,103
30 |4 (TPE) 1% #2(DXB) 2 6, 548
31 |4 # (TPE) # ¥ (BOM) 1 5,674
32 |4 (TPE) % & (2 = )(NRT) 12 2,061
33 |4+ (TPE) e it (AUH) # 4+ 4 (PRG) B % #(LUX) fe ik (AUH) |4 2 (TPE) 2 16,198
34 |4 (TPE) e it (AUH) W uAs(FRA) |4 4 (TPE) 1 24, 686
35 |4 # (TPE) Fe it (AUH) B & F(LUX) 4 # (TPE) 1 25, 055
36 |4 # (TPE) % 7 (NKG) #40(060) 4 # (TPE) 1 3,061
37 |44 (TPE) i 1575 (LAX) 2 10, 944
38 |4 # (TPE) it 425 (LAX) < IR (KIX) 4 # (TPE) 3 25, 164
39 |44 (TPE) i 427 (LAX) @ 7 B (SEA) 4 # (TPE) 2 13, 860
40 |4 # (TPE) it 425 (LAX) 4 1 (SFO) 4 # (TPE) 3 25, 399
41 |% 2 (TPE) £ & (CKG) 4 1,852
42 |+ 2 (TPE) H B CizICN) % 20 (ANC) [ 125 (LAX) 1 11,346
43 |4 # (TPE) F @ Ci=)CN) [ R (9 )(NRT) 1 2,999
44 |4 (TPE) % % (HKG) 54 809
45 |4 # (TPE) % # (HKG) % s (ANO) |3 3 7R 3(CV6) 1 13, 946
46 |4 (TPE) § % (BKK) = & (GYD) Jp A #(LUX) 2 11, 754
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AT |4 # (TPE) & % (BKK) @ i (HAN) 4 # (TPE) 3 5,127
48 |4 # (TPE) & % (BKK) ok (AUD) | 4 #(LUX) 4 # (TPE) 1 21, 961
49 |4 # (TPE) & % (BKK) ezt (AUH)  [Fede #5332 (AMS) | 3 (BKK) £ 7 (TPE) 2 15, 097
50 |4 # (TPE) & % (BKK) 1 2,503
51 |4 # (TPE) & =27 (MEM) 5 12, 557
52 |4 # (TPE) 7 4o 12 (CGK) % 14 (KUL) 4 # (TPE) 3 8,184
53 |4 # (TPE) T F* (XMN) 2 891
54 |4 (TPE) #7405 (SIN) 5 2 3 (MNL) 4 # (TPE) 2 4,330
55 |4 # (TPE) #7408 (SIN) § % (BKK) 4 # (TPE) 4 7,764
56 |4 # (TPE) #7405 (SIN) #i % (PEN) 4 # (TPE) 4 6,948
57 |4 # (TPE) #74e 1 (SIN) 3 3,230
58 |4 (TPE) #ra @415 (OVB) | & #(LUX) 1 10, 936
59 |4 (TPE) i+ (FOC) 7 811
60 |4 # (TPE) A (CAN) 9 830
61 |4 (TPE) 1€ 2 (DEL) * & %% BRD |42 (DEL) 4 # (TPE) 1 21, 450
62 |4 (TPE) 42 (DEL) i i Am(FRA) |46 2 (DEL) 4 # (TPE) 2 20, 896
63 |4 (TPE) Hi % (PEN) # A (SGN) |44 (TPE) 2 7,624
64 |4 (TPE) #i % (PEN) % % (HKG) 4 # (TPE) 1 6, 367
65  |mzk(OKA) 4 # (TPE) % 7 (% 9 )(NRT) 12 2,780
66 |4 % (HKG) 4 # (TPE) %5 (&2 )(NRT) 7 2,958
67 |H B (i=")(ION) 4 # (TPE) 2 1, 483
68 | & (2= )(NRT) 4 # (TPE) + R (KIX) 3 3,883
69 | & (2= )(NRT) 4 # (TPE) § % (BKK) 1 4,684
70 |33 783(CV6) % 3455 (ANC) % (%8 )(NRD) [F F (i= "IN |4 # (TPE) 1 13, 252
1 |3 3 783(CV6) % 3455 (ANC) H B (i=")(ICN) |4 # (TPE) 1 12,578
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2 |3 %7000 43 ($9)ORD |H F (= ")UCN) |4 # (TPE) 2 13,210
73 |3 2 7(0V0) 7 (% )(NRT) |2 4 (SYD) 4 2 (TPE) ! 25,579
|2 3758 (CV0) (%8 )(NRT) |4 # (TPE) 1 12, 703
5 |34 7000 F BN |4 # (TPE) ! 12,415
76 [% 54255 (ANC) 4 # (TPE) %3 (%9 )(NRT) ! 9, 694
T |% 54255 (ANC) 4 # (TPE) % 7% (HKG) 1 8,316
78 [% 5425 (ANC) 4 # (TPE) 374 3 (SIN) 1 10, 735
79 | Hs (KL 5 2 3 (INL) 1 # (TPE) % 13 (KUL) 1 6, 927
80 |t £ 2 H(IND) |% fbis(ANO) |+ IR(KIX) 4 # (TPE) %4 % (CRK) 1 13, 554
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